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Answer all the questions.

Extreme Environments
1 (a) Study Fig. 1 in the separate Insert.

(i) Identify two features of the physical environment in Fig. 1 which are typical of a hot
desert environment.

PSR
2 et eeeeeeeeeeeeieeeeeeeeiseeeeeesseseesiesseeesessteeeeeiatteeeeansteeeeaaiteteeeaareteeaaanreeeeaaraeeeeaanrees
[2]
(ii) Explain how this landscape has been formed.
...................................................................................................................................... [3]
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(b) Study Fig. 2 in the separate Insert.

(i) Whatis a ‘food web’?

(i) Using information from Fig. 2, complete a food chain for the desert environment in the

boxes below.

Tertiary consumer

T

Secondary consumer

Small lizard

T

Primary consumer

T

Primary producer

[3]

(iii) Explain two ways in which animals, such as those shown in Fig. 2, have adapted to
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survive in hot deserts.
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(c) (i) What is ‘desertification’?

...................................................................................................................................... [11
(ii) Explain two causes of desertification.

1 SRRSO OPPPROt

72 SRS

[4]
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2 (a) Study Fig. 3 in the separate Insert.

(i) Identify two reasons tourists might visit this area.

(ii) Describe and explain one way in which the continued use of this mountain environment
for tourism might be unsustainable.

...................................................................................................................................... [3]
(b) You will have studied a named mountain environment.
Name of mountain eNVIFONMENT ..........iii it e e e e e e e e eeeeens
Explain two positive impacts of tourism on this mountain environment.
SRR
2
[4]

© OCR 2017 Turn over



(c) Study Fig. 4 in the separate Insert.

Explain how campaigns such as this try to reduce the environmental impact of tourism in your
named mountain environment. You should refer to place specific detail in your answer.

Name of MOUNTAIN ENVIFONIMENT ......ieeiieee et e e et e et e e e e e e e e e e eeans

# Spelling, punctuation and grammar [3]
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7
(a) Study Fig. 5 in the separate Insert and the map below.

(i) In which of the two locations is this earthquake likely to have happened? Tick (v') the
correct answer.

A
B
1]
(ii) Give a reason for your answer.
...................................................................................................................................... [1]
(b) State one short term and one long term impact of the earthquake shown.
0] 1] o 8 1= o 1 OO RERRR
(o] g o 1 (=7 ¢ o 4 PP PR PPPI
[2]
Turn over
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(c) The earthquake in Fig. 5 happened in a poorer country.

Describe and explain one way in which the impacts of an earthquake may be different in a
wealthier country.

.............................................................................................................................................. [2]
(d) You will have studied a recent earthquake event.

(o Toz=11Te] g To) I=1Y/=T o | SR PREPT P

Explain how the impacts of future earthquakes in this location could be reduced.

.............................................................................................................................................. [6]

# Spelling, punctuation and grammar [3]
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The Global Citizen

(a) Define the following terms:

Economic producer

(b) (i) There are different types of products. Complete the table below by giving an example of

each type of product shown.

Type of product Example
Food Banana
Clothing
Utility

(i) Study Fig. 6 in the separate Insert.

[2]

Use map evidence to describe where most coffee is produced and consumed.

Coffee ProduCion .........cooiiiiiii
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(iii) Countries are often interdependent. Using an example, explain what interdependent
means.

...................................................................................................................................... [2]
(c) (i) Complete the statements below by joining the beginning and ending of each sentence.

Trade agreements increase the cost of imports into a country
Trade barriers\ allow countries to trade freely with each other
Trade quotas make imports less competitive
Trade tariffs limit the amount of imports into a country

[2]

(ii) Give one example of a trade incentive.

...................................................................................................................................... [1]

(d) You will have studied a named product.
(N F= 0 g L= o] o] (e T [ [ PRSP

Explain how the demand for your chosen product may change in the future.
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# Spelling, punctuation and grammar [3]
(e) You will have studied a named service.
NAME OF SEIVICE ...t e e e e e e e e e e e e et e e e e e e eeeeessbaaaaeeeaeeennnns

(i) Describe how the availability of your named service varies across the world.

(ii) Suggest one reason why some people may find it difficult to access this service and
what problems this may cause them.
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Similarities and Differences in Settlements and Population

5 Study Fig. 7 in the separate Insert.

(@) (i) Read the three statements below and the town which correctly completes each
sentence.

An ageing population is found in Christchurch/Milton Keynes.
A larger proportion of 35-50 year olds live in Christchurch/Milton Keynes.

The population in Christchurch/Milton Keynes is similar to the UK average.

[3]

(i) Suggest why some settlements in rural areas have a large percentage of elderly people
living there.

(b) You will have studied a local place in the UK.
Name Of I0Cal PIACE ......ccooeieee

(i) Describe three distinctive landscape features of your chosen local place.
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(ii) Explain how your chosen local place is linked to your chosen non-UK place.

NaME OF I0CAI PIACE ....eeeeeeiiiiieee e e e e e e

Name Of NON-UK PIACE .....ooiiiiiiiieiiie ettt e e e e e e e e e e e e e nnnnees

# Spelling, punctuation and grammar [3]
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6 (a) Study Fig. 8 in the separate Insert.

(i) Describe how birth rates in Vietnam changed between 1989 and 2014.

(iii) Explain two problems the government of Vietnam might face in the future as a result of
population change.
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(b) You will have studied an issue related to a recent population change.

Name of population ChaNGE ...

(i) Outline the causes of the population change you have studied.

...................................................................................................................................... [2]
(ii) Describe two benefits of the population change named in (i) above.
L P
2 ettt eeeeieeeeeteeeaeeeeaeeeeeeeeeasteeeasteeeasteeeasteeaaseteaasteeaaseeeateeeaheeeaaneeeateeeateeeareeearees
[4]

END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).
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